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QUESTION 1

Which two statements are true about the ORDER BY clause when used with a SQL statement containing a SET
operator such as UNION? (Choose two.)

A. Column positions must be used in the ORDER BY clause
B. Only column names from the first SELECT statement in the compound query are recognized

C. The first column in the first SELECT of the compound query with the UNION operator is used by default to sort output
in the absence of an ORDER BY clause

D. Each SELECT statement in the compound query must have its own ORDER BY clause
E. Each SELECT statement in the compound query can have its own ORDER BY clause
Correct Answer: BC

select employee_id,last_name "Last Name" FROM employees where employee_id=101 union select employee_id
EMP_NO, last_name from employees where employee_id=113; C is correct.

QUESTION 2
Which two statements are true about the Automatic Diagnostic Repository (ADR)? (Choose two.)

A. The ADR base defaults to $ORACLE_HOME/rdbms/admin if neither DIAGNOSTIC_DEST nor ORACLE_BASE is
set

B. The ADR base defaults to $ORACLE_HOME/dbs if the DIAGNOSTIC_DEST parameter and the ORACLE_BASE
environment variable are not set

C. It supports diagnostics for Automatic Storage Management (ASM)
D. It supports diagnostics for Oracle Clusterware

E. Itis held inside an Oracle database schema

Correct Answer: CD

The database, Oracle Automatic Storage Management (Oracle ASM), the listener, Oracle Clusterware, and other Oracle
products or components store all diagnostic data in the ADR.

https://docs.oracle.com/database/121/ADMIN/diag.htm#ADMIN11260

QUESTION 3
You execute this query:
SELECT TO_CHAR(NEXT_DAY(LAST_DAY(SYSDATE), "MON\\"), “dd "Monday for" fmMonth rrrr\\')

What is the result?
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A. It executes successfully but does not return any result

B. It returns the date for the first Monday of the next month
C. It generates an error

D. It returns the date for the last Monday of the current month
Correct Answer: B

select sysdate from dual; 11-09-20 select TO_CHAR(NEXT_DAY(LAST_DAY(SYSDATE),\'MON\W),\\'dd "Monday for"
fmMonth rrrr\\') from dual 05 Monday for October 2020

QUESTION 4

Which two statements are true about the results of using the INTERSECT operator in compound queries? (Choose
two.)

A. Column names in each SELECT in the compound query can be different

B. The number of columns in each SELECT in the compound query can be different
C. Reversing the order of the intersected tables can sometimes affect the output

D. INTERSECT returns rows common to both sides of the compound query

E. INTERSECT ignores NULLs

Correct Answer: AD

QUESTION 5

Which three activities are recorded in the database alert log? (Choose three.)
A. Data Definition Language (DDL) statements

B. non-default database parameters

C. block corruption errors

D. deadlock errors

E. session logins and logouts

Correct Answer: BCD

All internal errors (ORA-600), block corruption errors (ORA-1578), and deadlock errors (ORA-60) that occur The values
of all initialization parameters that had nondefault values at the time the database and instance start

https://docs.oracle.com/cd/B28359_01/server.111/b28310/monitoring001.htm#ADMIN11247
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